XYZ2,=97.06, 99.99, 104.57

&=y [ (x=x:) /Y]
bz bylz/y
a,=1,b,,=-0,4
X, = 0,110, B, = 0,800

— 2
Cogs=[A+B;]
6 OstwaldFarben (o)
von maximalem (m)C,g im
linearen Farbenraum (Cyg . Y)
Lichtart P60, Y, —10Q Yy=4
Name Bereic X, ¥, Ya
R, 568_775 6416 42.46 25 “osra 0anbr o 40
V) 49477758043 948 10.44 04331 05105571 463
G, 494 568 2025 56.43 10.39 0.2325 0648 535 535c
C, 380568 36.89 61.63 10452 0.1816 0.3035 489 596 Parameter:
B, 380_494 2061 93  98.42 0.1606 0.0724 463 571 Y & Name
M, 568_494 80.8 47.66 98.47 0356 021 535535 f
Wi Se0 774 7,06 9908 104570.9315 0 3515 1000 Lichtart P60
N.380775 368 300 418 03218 03315 4% Y,,=100 Y,=4
Z, 380_775 17.47 17.99 1882 03218 0.3315 18%
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